e

. -

Q +902165083786 R info@parsrot.com



Leading

Manufacturer
Company

WHY PARS STEERING
SUSPENSION PARTS

1. Having an understanding that maximizes customer satisfaction.
2. 32 years of experience on automotive spare parts industry.
3. Certificate of IS0 9001:2015

4. Factory is next to biggest port, Logistic Companies and Air Cargo
in Istanbul, Turkey

5. High-Tech Machinery, and High-Sustainable Quality
6. Just in time production with scheduled producing program.
7. Competitive and reasonable prices.

8. Fast Costum Regulations.

9. Customer-oriented operating system

0

Ferhatpaga Mahallesi 38. Sokak No: 91
Atasehir/ISTANBUL, Tiirkiye

e +90216 661 26 19

Q) +90216 661 2619

ABOUT COMPANY

As a leading manufacturer, PARS ROT VE ROTIL company has been
producing high qualified steering and suspension spare parts

for passenger cars and light commercial vehicles, it has been founded
in 1989 and it has supplied acceleration to the sector with the
improving institutional structure and fast growing producing power

that it has.

Over 5 million items annual producing capacity and 7 thousand
product range, and with over 200 employees places

PARS ROT VE ROTIL to the position of leadership within the sector in
national and also international improving markets.

As one of the varied range steering and suspension parts manufacturer
in the world,

production and assembling facilities of PARS ROT VE ROTIL contains
operations of the following product lines in steering and suspension

group for the aftermarket, stabilizer links, tie rod ends, axial joints,

ball joints, bushings.

PARS ROT VE ROTIL, is certified under ISO 9001-2015 quality
management systems and the products are precisely assembled in our
assembly lines and further, are made ready for packing upon

final control.

www.parsrot.com
info@parsrot.com




* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com 3 info@parsrot.com




Rot sy

= [and BMW
1-SERIES E81, E82, E87, E88 2004-2012
BM-19167 BM-19168
Lateral Arm Lateral Arm
Rear Upper Front Rear Upper Rear
33326782237 33326777980
BM-19169 BM-19264
Lateral Arm Lateral Arm
Rear Lower Rear Rear Right Upper
33326763471 33326782238
BM-19265 BM-13153
Lateral Arm Axial Joint
Rear Left Upper Front
33326782237  M14X15
32216762244
BM-13183 BM-23151153
Axial Joint Steering Tie Rod Assembly
Front Inner Front Right
(ZF-RHD) M14x1,5 ZFSt. M14x1,5
32106765236 32216762244
BM-23151183 BM-23152153
Steering Tie Rod Assembly Steering Tie Rod Assembly
Front Right Front Left
ZF ZFSt. M14x1,5
32106765236 32216762243
BM-23152183 BM-12151
Steering Tie Rod Assembly Tie Rod End
Front Left Front Right
ZF TRWSt. M14x1,5
32106765235 32106767782
BM-12152 BM-16155
Tie Rod End Suspension Control Arm and Ball Joint
Front Left Assembly L
TRWSt. M14x1,5 Front Right Lower Rear @——\ -
32106767781 31126770850

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com 4 info@parsrot.com



Rot sy

E81, E82, E87, E88

BMW

2004-2012

= [and
1-SERIES
BM-16156
Suspension Control Arm and Ball Joint
Assembly

Front Left Lower Rear

BM-16160

Suspension Control Arm and Ball Joint
Assembly

Front Right Lower Front

31126770849 31126763708
BM-16161 BM-18150
Suspension Control Arm and Ball Joint Suspension Control Arm Repair Kit
Assembly
M Rear
Front Left Lower Front  54(B-167/168/169/159/154)
31126763707
]
BM-18170 BM-18180

P Suspension Control Arm Repair Kit

Front
(BM-10.151/152/157/158/155/156/1 68/13

Suspension Control Arm Repair Kit

Front
gl%l;/l-10.1 51/252/157/158/155/156/160/1

BM-14157 BM-14157A
Stabilizer Link Stabilizer Link
Front Right Front Right
L=290mm 34356765934
31356765934
BM-14158 BM-14158A
Stabilizer Link Stabilizer Link
Front Left Front Left
L=290mm 34356765933
31356765933
BM-14159 BM-154
Stabilizer Link Lateral Arm Bushing
Rear Rear
L=160mm 33306775552
33556764428
BM-20626 BM-20622
Control Arm Bushing Control Arm Bushing
Upper Lower
31126765597 31126763719

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com

info@parsrot.com



Rot sy

= Land BMW

1-SERIES

F20, F21

2011 after

BM-20906

Control Arm Bushing

Front Right Inner

BM-20860

Control Arm Bushing

Front Outer

31126855742 33326792544
BM-20861 BM-20862
Control Arm Bushing Control Arm Bushing

Right Upper Rear Upper
33326792544 33326792540
BM-20870 BM-20871
Control Arm Bushing Control Arm Bushing

Rear Rear Upper
33326792525 33326792533
BM-19368 BM-19369
Lateral Arm Lateral Arm

Rear Right Upper Front

Rear Left Upper Front

L=245mm L=245mm
33326792540 33326792539
BM-19376 BM-19377
Lateral Arm Lateral Arm
Rear Lower Rear Upper
33326792525 33326792533
BM-19378 BM-19379
Lateral Arm Lateral Arm

Rear Right Upper Rear

Rear Left Upper Rear

L=289mm L=289mm
33326792544 33326792543
BM-19897 BM-13353
Lateral Arm Axial Joint
Rear Front
33326792541 M14X1,5L=253mm
32106799965

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

info@parsrot.com



—
sy L and

BMW

1-SERIES

F20, F21

2011 after

BM-23351353

Steering Tie Rod Assembly

BM-23352353

Steering Tie Rod Assembly

Front Right Front Left
M14x1,5 M14x1,5
32106799965 32106799960
BM-12351 BM-12352
Tie Rod End Tie Rod End
Front Right Front Left
M14x1,5 M14x1,5
32106799967 32106799966
BM-12761 BM-12762
Tie Rod End Tie Rod End
Front Right Front Left
32106797618 32106797617
BM-16354 BM-16355
Suspension Control Arm and Ball Joint Suspension Control Arm and Ball Joint
Assembly Assembly
Front Right Lower Rear Front Left Lower Rear
31126852992 31126852991
BM-16358 BM-16359
Suspension Control Arm and Ball Joint Suspension Control Arm and Ball Joint
Assembly Assembly
Front Right Lower Front Front Left Lower Front
31126855742 31126855741
BM-14349 BM-14350
Stabilizer Link Stabilizer Link
Front Front
(sportsuspansiyon) L=310mm L=310mm
31306792212 31306792211
BM-14356 BM-14357
Stabilizer Link Stabilizer Link
Rear Right Rear Left
L=136mm L=136mm
33506785608 33506785607

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com

info@parsrot.com



Rot sy

= Land BMW
2-SERIES F22,F87 2014 after
BM-19127 BM-16359
— Lateral Arm Suspension Control Arm and Ball Joint
h Assembly
Rear

Front Left Lower Front

31126855741

33326851569

BM-16358 BM-16355

Suspension Control Arm and Ball Joint Suspension Control Arm and Ball Joint
Assembly Assembly

Front Right Lower Front Front Left Lower Rear

31126855742 31126852991

BM-16354 BM-12762

o Suspension Control Arm and Ball Joint Tie Rod End
a N Assembly
Front Left
Front Right Lower Rear
32106797617

31126852992

BM-13123 BM-23121123
Axial Joint Steering Tie Rod Assembly
Front Front Right
32106867405 32106867405

BM-23122123 BM-12121
Steering Tie Rod Assembly Tie Rod End
Front Left Front Right
32106867404 32106867405

BM-12122 BM-12761
Tie Rod End Tie Rod End
Front Left Front Right
32106867404 32106797618

BM-19379 BM-19378

Lateral Arm Lateral Arm

Rear Left Upper Rear Rear Right Upper Rear
L=289mm L=289mm

33326792543 33326792544

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com 8 info@parsrot.com



Rot sy

= [and BMW
2-SERIES F22,F87 2014 after
BM-19377 BM-19376
Lateral Arm Lateral Arm
Rear Upper Rear Lower
33326792533 33326792525
BM-19369 BM-19368
Lateral Arm Lateral Arm

Rear Left Upper Front

Rear Right Upper Front

L=245mm L=245mm
33326792539 33326792540
BM-201109 BM-201004
Control Arm Bushing Control Arm Bushing

Rear Front Left
33326851569 31126874341
BM-201003
Control Arm Bushing
Front Right
31126874342
F45,F46 2014 after
BM-201003 BM-201004
Control Arm Bushing Control Arm Bushing
Front Right Front Left
31126874342 31126874341
BM-201109 BM-12122
Control Arm Bushing Tie Rod End
Rear Front Left
33326851569 32106867404
BM-19126 BM-16129
Lateral Arm Suspension Control Arm and Ball Joint
Assembly
Rear Upper
Front Left Lower
33326870773

31126871301

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com

info@parsrot.com



Rot sy

= Land BMW
2-SERIES ACTIVE TOURER F45,F46 2014 after
BM-16128 BM-14120
Suspension Control Arm and Ball Joint Stabilizer Link
Assembly
Front
Front Right Lower
31306862864
31126871302
BM-12121 BM-23122123
Tie Rod End Steering Tie Rod Assembly
Front Right Front Left
32106867405 32106867404
BM-23121123 BM-13123
Steering Tie Rod Assembly Axial Joint
Front Right Front
32106867405 32106867405
BM-19127 MN-14167
Lateral Arm Stabilizer Link
Rear Rear
33326851569 33506862865
|
BM-124
Lateral Arm Bushing
Rear
33326870773
3-SERIES E21 1975-1984
| |
BM-13102 BM-13103
Axial Joint Axial Joint
T Front Right _#..
M14X1,5-L=216mm M14X1,5-L=233mm
32111116709 32111116710
|
BM-23101102 BM-23101103
Steering Tie Rod Assembly Steering Tie Rod Assembly
-~ 3
Front Left Front Right
. | 9 o cmlfl)
32111115229 32111115241

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com

10

info@parsrot.com



A
&Ilana' BMW

3-SERIES E21 1975-1984

BM-12101 BM-2037
Tie Rod End Control Arm Bushing
Front Center

M14x1.5 85004082
32111116463

BM-2036

Control Arm Bushing
Rear
SE138126025A

E30 1982-1994

BM-2043 BM-2041
Control Arm Bushing Control Arm Bushing
Right Right
31121127726 31121139790

BM-2042 BM-2044
Control Arm Bushing Control Arm Bushing
Left Left
31121139789 31121126255

BM-2049 BM-2047

Control Arm Bushing Control Arm Bushing

Inner Inner

31129058819 31129058815

BM-13204 BM-13205

Axial Joint Axial Joint

Right  Left A——P—p

M14x1,5 M14x1,5

[
32111130451 32111130449
[

BM-23201204 BM-23201205

Steering Tie Rod Assembly Steering Tie Rod Assembly

Front Right Front Left &~_._:._

32111125187 32111125186

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com 11 info@parsrot.com



Rot sy

= Land BMW
3-SERIES E30 1982-1994
BM-12201 BM-11202
Tie Rod End Ball Joint
Front Front Upper
M14x1,5 Center
32111126757 31121139131
BM-11203 BM-16221
Ball Joint Suspension Control Arm and Ball Joint

3-SERIES

e—0

Assembly

Front
Rear Front Right Lower
31121126254 31121701060
BM-16221S BM-16222
Suspension Control Arm and Ball Joint Suspension Control Arm and Ball Joint
Assembly Assembly
Front Right Front Left Lower
31121127726 31121130823
BM-16222S BM-18221K
Suspension Control Arm and Ball Joint Suspension Control Arm Kit
Assembly
Front Right
Front Left Lower
31121127726
31121127725
BM-18222K BM-14206

Suspension Control Arm Kit

Stabilizer Link

e—O

1990-1998

Front Left Front
31121127725 Only:325ix4X4 L=239mm
31351701066
BM-14210 BM-14211
Stabilizer Link Stabilizer Link
Front Rear
L=66,5mm L=100mm
31351128737 33551126932
E36
BM-14211 BM-14210
Stabilizer Link Stabilizer Link
Rear Front
L=100mm L=66,5mm
33551126932 31351128737

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

-0

parsrot.com

info@parsrot.com



Rot sy

= Land BMW
3-SERIES E36 1990-1998
|
BM-11202 BM-13303
Ball Joint Axial Joint
Front Upper Front T m-:—q:::
Center M14x1,5Rht-L=205.8mm
31121139131 32111136133
|
BM-23301303 BM-23302303
Steering Tie Rod Assembly Steering Tie Rod Assembly
R — :___j_\,\‘ Front Right Front Left
32111139316 32111139315
|
BM-12301 BM-12302
_ Tie Rod End Tie Rod End
L Front Right Front Left
W: M14x1,5  M14x1,5
32111139314 32111139313
|
) BM-11305 BM-11306
Ball Joint Ball Joint

Front Lower Outer

Front Lower Outer
withmounting

31126758510
31126758510
BM-16325 BM-16325S
Suspension Control Arm and Ball Joint Suspension Control Arm and Ball Joint
Assembly Assembly
Front Right Lower Front Right Lower
31126758514 WithoutBallJoint
31121140958
BM-16326 BM-16326S
Suspension Control Arm and Ball Joint Suspension Control Arm and Ball Joint
Assembly Assembly

Front Left Lower

31126758513

Front Left Lower
WithoutBallJoint

31121140957

BM-18325K

Suspension Control Arm Kit
Front Right Lower
31121094276

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

BM-18326K

Suspension Control Arm Kit
Front Left Lower

31121094276

parsrot.com

info@parsrot.com



Rot sy

mw Land BMW
3-SERIES E36 1990-1998
BM-14320 BM-14400
Stabilizer Link Stabilizer Link
Front Rear
Only:M3Series L=231mm Alm. L=60mm
31352227203 33551135307
BM-19844 BM-14510
Lateral Arm Stabilizer Link
Rear Lower Front
33326770813 --241mm
31351128050
BM-20162 BM-2046
Control Arm Bushing Control Arm Bushing
Inner Left
31129059288 31121136531
BM-2045 BM-2042
Control Arm Bushing Control Arm Bushing
Right Left
31121136532 31121139789
BM-2041 BM-304
Control Arm Bushing Lateral Arm Bushing
Right Rear
31121139790 33321140345
BM-20854 BM-20659
Control Arm Bushing Control Arm Bushing
Rear Rear
33326770813 33321097009
E46
BM-20659 BM-20854
Control Arm Bushing Control Arm Bushing
Rear Rear
33321097009 33326770813

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com

info@parsrot.com



Rot sy

= Land BMW
3-SERIES E46 1998-2005
BM-16444 BM-16445
Ball Joint Ball Joint

Front Right Lower

Front Left Lower

Front Right Lower
31122282122

31126756696 31126756695
BM-20363 BM-19844
Control Arm Bushing Lateral Arm
Inner Rear Lower
31129071952 33326770813
BM-13603 BM-23601603
Axial Joint Steering Tie Rod Assembly
Front Front Right
M14x1,5-L=205mm 32211096898
32211095950
BM-23602603 BM-121001
Steering Tie Rod Assembly Tie Rod End
Front Left Front Right
32211096897 32106774321
BM-121002 BM-12601
Tie Rod End Tie Rod End
Front Left Front Right
32106774320 ~ M14x1,5Rnt
32211095958
BM-12602 BM-16625
Tie Rod End Suspension Control Arm and Ball Joint
Assembly
Front Left
M14x1,5Rht Front Right Lower
Alm.
32211095957
31126752318
BM-16627 BM-16628
Suspension Control Arm and Ball Joint Suspension Control Arm and Ball Joint
Assembly Assembly

Front Left Lower
31122282121

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com

info@parsrot.com



Rot sy

= [and
3-SERIES E46 1998-2005
BM-16658 BM-16659
s Suspension Control Arm and Ball Joint Suspension Control Arm and Ball Joint

Assembly Assembly
Front Right Lower Front Left Lower
31122229454 31122229453
]
BM-16616 BM-16617

Suspension Control Arm

Front Right Lower

Suspension Control Arm

Front Left Lower

i 31126758534 31126758533
BM-16626 BM-18625K
“ Suspension Control Arm and Ball Joint Suspension Control Arm Kit
— Assembly
P Front Right Lower
Y Front Left Lower  Ajm CompleteKit
0/ Alm.
31121094466
31126752717
BM-18625V BM-18626K

Suspension Control Arm Kit

Front Right Lower
Alm.WithMountedBush

31121094466

Suspension Control Arm Kit

Front Left Lower
Alm.CompleteKit

31121094465

BM-18626V

Suspension Control Arm Kit

Front Left Lower
Alm.WithMountedBush

BM-18627K

Suspension Control Arm Kit

Front Right Lower
Kitversionwithbushing

31121094465 31122282122
BM-18628K BM-14605
Suspension Control Arm Kit Stabilizer Link
Front Left Lower Rear
Kitversionwithbushing L=95mm
31122282121 33551094619
BM-14618 BM-14619
Stabilizer Link Stabilizer Link
f__=_’ Front Right Front Left
Only:325x1,330x1,330xd L=308mm Only:325x1,330x1,330xd L=308mm
31356751080 31356751079

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com 16 info@parsrot.com



Rot sy

mw Land BMW
3-SERIES E46 1998-2005
|
BM-14610
P Stabilizer Link
s Front
L=270mm
31351095694
E90/E91/E92/E93 2005-2011
BM-23191193 BM-23192193
Steering Tie Rod Assembly Steering Tie Rod Assembly
Front Right Front Left
xdrive M14x1,5 xdrive M14x1,5
32106793622 32106793621
BM-12191 BM-12192
Tie Rod End Tie Rod End
Front Right Front Left
(xDrive)4x4 M14x1,5 xdrive M14x1,5
32106793624 32106793623
BM-11795 BM-11932
Ball Joint Ball Joint
Front Lower Front
31126768088  *dNve
31126768989
BM-16935 BM-16178
Suspension Control Arm and Ball Joint Suspension Control Arm
Assembly
Front Right Lower Rear
Front xdrive
xdrive
31126768984
31126768989
BM-16179 BM-14196A
Suspension Control Arm Stabilizer Link
Front Left Lower Rear Front Right
xdrive MetalType(xDrive)4x4 A=340MM
31126768983 31356768772
BM-13193 BM-14197A
Axial Joint Stabilizer Link
* Front Front Left

C=(xDrive)4x4 M18X1.5
32106793622

MetalType(xDrive)4x4 A=340MM
31356768771

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com

info@parsrot.com



Rot sy

= Land BMW
3-SERIES E90/E91/E92/E93 2005-2011
BM-14159 BM-14158A
Stabilizer Link Stabilizer Link
Rear Front Left
L=160mm 34356765933
33556764428
BM-14158 BM-14157A
Stabilizer Link Stabilizer Link
Front Left Front Right
L=290mm 54356765934
31356765933
BM-14157 BM-18180
Stabilizer Link Suspension Control Arm Repair Kit
Front Right Front
L=290mm gl%y-10.151/252/1 57/158/155/156/160/1
31356765934
BM-18170 BM-16161

Suspension Control Arm Repair Kit

Suspension Control Arm and Ball Joint
Assembly

Front
(BM-10.151/152/157/1 58/155/156/168/& Front Left Lower Front

31126763707

BM-16160 BM-16156

Suspension Control Arm and Ball Joint Suspension Control Arm and Ball Joint
Assembly Assembly 4
Front Right Lower Front Front Left Lower Rear == /—_@

31126763708 31126770849

BM-16155 BM-12152

Suspension Control Arm and Ball Joint Tie Rod End W
Assembly I/
Front Left

@——\ « Front Right Lower Rear TRWSH. |V|14X1,5

31126770850 32106767781
|
BM-12151 BM-23152183
-!&‘ Tie Rod End Steering Tie Rod Assembly
z\} Front Right Front Left
N TRWSt. M14x1,5 ZF

32106767782 32106765235

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com

info@parsrot.com



Rot sy

= Land BMW
3-SERIES E90/E91/E92/E93 2005-2011
. |

BM-23152153

Steering Tie Rod Assembly

BM-23151183

Steering Tie Rod Assembly

Front Left Front Right
ZFSt. M14x1,5 ZF
32216762243 32106765236
BM-23151153 BM-13183
Steering Tie Rod Assembly Axial Joint
Front Right Front Inner
ZFSt. M14x1,5 (ZF-RHD) M14x1,5
32216762244 32106765236
BM-13153 BM-19265
Axial Joint Lateral Arm
Front Rear Left Upper
MISAS 33326782237
32216762244
BM-19264 BM-19169
Lateral Arm Lateral Arm
Rear Right Upper Rear Lower Rear
33326782238 33326763471
BM-19168 BM-19167
Lateral Arm Lateral Arm
Rear Upper Rear Rear Upper Front
33326777980 33326782237
BM-20530 BM-154
Control Arm Bushing Lateral Arm Bushing
Front Lower Rear Rear
31126768984 33326775552
BM-20622 BM-20626
Control Arm Bushing Control Arm Bushing
Lower Upper
31126763719 31126765597

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

info@parsrot.com



—
sy L and

3-SERIES

F30
BM-154 BM-13973
Lateral Arm Bushing Axial Joint
Rear Front
33326775552 32106792030
BM-20906 BM-20871
Control Arm Bushing Control Arm Bushing
Front Right Inner Rear Upper
31126855742 33326792533
BM-20870 BM-20862
Control Arm Bushing Control Arm Bushing
Rear Upper
33326792525 33326792540
BM-20861 BM-20860

Control Arm Bushing

Control Arm Bushing

Right Upper Rear Front Outer
33326792544 33326792544
BM-19368 BM-19369
Lateral Arm Lateral Arm

Rear Right Upper Front

Rear Left Upper Front

L=245mm L=245mm
33326792540 33326792539
BM-19376 BM-19377
Lateral Arm Lateral Arm
Rear Lower Rear Upper
33326792525 33326792533
BM-19378 BM-19379
Lateral Arm Lateral Arm

Rear Right Upper Rear
L=289mm

33326792544

Rear Left Upper Rear
L=289mm

33326792543

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com

2012-2018

info@parsrot.com



Rot sy

mw Land BMW
3-SERIES F30 2012-2018
BM-12761 BM-12352
— Tie Rod End Tie Rod End
Front Right Front Left
32106797618 M14x15
32106799966
BM-12351 BM-23352353
Tie Rod End Steering Tie Rod Assembly
Front Right Front Left
M14x1,5 M14x1,5
32106799967 32106799960
BM-23351353 BM-13353
Steering Tie Rod Assembly Axial Joint
Front Right Front
M14x1,5 M14X1,5L=253mm
32106799965 32106799965
BM-14357 BM-14356
Stabilizer Link Stabilizer Link
Rear Left Rear Right
L=136mm L=136mm
33506785607 33506785608
BM-16359 BM-14350
Suspension Control Arm and Ball Joint Stabilizer Link
Assembly
Front
Front Left Lower Front L=310mm
31126855741 31306792211
BM-14349 BM-12762
Stabilizer Link Tie Rod End
Front Front Left
(sportsuspansiyon) L=310mm 32106797617
31306792212
BM-16354 BM-16355
Suspension Control Arm and Ball Joint Suspension Control Arm and Ball Joint
Assembly Assembly

Front Right Lower Rear
31126852992

Front Left Lower Rear

31126852991

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com

info@parsrot.com



Rot sy

= Land BMW
3-SERIES F30 2012-2018
|
BM-16358
—— Suspension Control Arm and Ball Joint
N Assembly
Front Right Lower Front
31126855742
F32 2014 after
|
BM-16358 BM-16355
Suspension Control Arm and Ball Joint Suspension Control Arm and Ball Joint P
Assembly Assembly f

Front Right Lower Front

Front Left Lower Rear

31126855742 31126852991
BM-16354 BM-12762
Suspension Control Arm and Ball Joint Tie Rod End
Assembly
Front Left
Front Right Lower Rear
32106797617
31126852992
BM-14349 BM-14350
Stabilizer Link Stabilizer Link
Front Front
(sportsuspansiyon) L=310mm L=310mm
31306792212 31306792211
BM-16359 BM-14356
Suspension Control Arm and Ball Joint Stabilizer Link
Assembly
Rear Right
Front Left Lower Front L=136mm
31126855741 33506785608
BM-14357 BM-13353
Stabilizer Link Axial Joint
Rear Left Front
L=136mm M14X1,5L=253mm
33506785607 32106799965
BM-19897 BM-23351353
Lateral Arm Steering Tie Rod Assembly
Rear Front Right
33326792541 M14x15
32106799965

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com

info@parsrot.com



Rot sy

Rear Left Upper Front

mw Land BMW
4-SERIES F32 2014 after
BM-23352353 BM-12351
Steering Tie Rod Assembly Tie Rod End
Front Left Front Right
M14x1,5 M14x1,5
32106799960 32106799967
BM-12352 BM-12761
Tie Rod End Tie Rod End
Front Left Front Right
M14x15 32106707618
32106799966
BM-19379 BM-19378
Lateral Arm Lateral Arm
Rear Left Upper Rear Rear Right Upper Rear
L=289mm L=289mm
33326792543 33326792544
BM-19377 BM-19376
Lateral Arm Lateral Arm
Rear Upper Rear Lower
33326792533 33326792525
BM-19369 BM-19368
Lateral Arm Lateral Arm

Rear Right Upper Front

L=245mm L=245mm
33326792539 33326792540
BM-20860 BM-20861

Control Arm Bushing

Front Outer

Control Arm Bushing
Right Upper Rear

33326792544 33326792544
BM-20862 BM-20870
Control Arm Bushing Control Arm Bushing
Upper Rear
33326792540 33326792525

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

info@parsrot.com



A
&Ilana' BMW

4-SERIES F32 2014 after

BM-20871 BM-20906

—— Control Arm Bushing Control Arm Bushing
' Rear Upper Front Right Inner
33326792533 31126855742

| |
BM-13973
N Axial Joint
! Front
32106792030
E28 1980-1990

BM-20596 BM-14510

Control Arm Bushing Stabilizer Link
Front Right Inner Front

31129058818~ L-=241mm
31351128050

BM-14211 BM-16532

Stabilizer Link Suspension Control Arm and Ball Joint
Assembly
Rear

L=100mm Front Right

33551126932 31121132346

BM-16533 BM-14212

Suspension Control Arm and Ball Joint Stabilizer Link

|
|
Assembly
Rear Outer
Front Left Upper L=50mm
|
|
e

31121132345 33321126476

BM-17508 BM-12501
Steering Center Link Tie Rod End

Front Front Right
Outer M14x1,5

32211135820

32211135666

BM-12502 BM-16526

Tie Rod End Suspension Control Arm and Ball Joint

Assembly
Front Left H
Front Left Lower Front

inner M14x1,5
32211135819 31121139991

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com 24 info@parsrot.com



Rot sy

= Land BMW
5-SERIES E28 1980-1990
|

BM-2035

— Control Arm Bushing

Rear

- 31121126302
E34 1988-1997
|

BM-2038 BM-20547

Control Arm Bushing

Control Arm Bushing

Upper Front
31121139456 31121136606
BM-16526 BM-12502
Suspension Control Arm and Ball Joint Tie Rod End
Assembly
Front Left
Front Left Lower Front inner M14x1,5
31121139991 32211135819
BM-12501 BM-17508
Tie Rod End Steering Center Link
Front Right Front
Outer M14x1.5 35511135666
32211135820
BM-14212 BM-17528
Stabilizer Link Steering Center Link
Rear Outer Front
L=50mm M10X1
33321126476 32211136685
BM-16520 BM-16521
Suspension Control Arm and Ball Joint Suspension Control Arm and Ball Joint
Assembly Assembly

Front Right Lower Front

Front Left Lower Front

31121139988 31121139987
BM-16522 BM-16523
Suspension Control Arm and Ball Joint Suspension Control Arm and Ball Joint
Assembly Assembly

Front Right Upper Rear
31121141098

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

Front Left Upper Rear
31121141097

parsrot.com

25

info@parsrot.com



Rot sy

= Land BMW
5-SERIES E34 1988-1997
BM-16525 BM-14211
Suspension Control Arm and Ball Joint Stabilizer Link
Assembly
h‘ Rear
Front Right Lower L=100mm
31121139992 33551126932
|
BM-14510 BM-14400
L Stabilizer Link Stabilizer Link
S ! Front Rear
Y L=241mm Alm. L=60mm
31351128050 33551135307
5-SERIES E39
BM-19426 BM-19427
Lateral Arm Lateral Arm
Rear Right Rear Left
33326767832 33326767831
BM-19671 BM-19814
Lateral Arm Lateral Arm
Rear Upper Front Rear
33326774795 33326770749
BM-19724 BM-13403
Lateral Arm Axial Joint
Rear Upper Front Front
33321097264 M16X1 L=175mm
32111093670

BM-23401403

Steering Tie Rod Assembly

BM-23402403

Steering Tie Rod Assembly

Front Right Front Left
32111094674 32111094673
BM-12401 BM-12402
Tie Rod End Tie Rod End
Front Right Outer Front Left Outer
M16X1Rht M16X1Rht
32111091770 32111091769

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com

info@parsrot.com



Rot sy

mw Land BMW
5-SERIES E39 1995-2003
BM-12431 BM-12432
Tie Rod End Tie Rod End
Front Right Front Left
M16X1,5 M16X1,5
32211091724 32211091723
BM-16422 BM-16423
Suspension Control Arm and Ball Joint Suspension Control Arm and Ball Joint

Front Right Lower Rear
(only535i,540i,M5)

Assembly Assembly
Front Right Lower Front Front Left Lower Front
31121141718 31121141717
BM-16424 BM-16425
Suspension Control Arm and Ball Joint Suspension Control Arm and Ball Joint
Assembly Assembly
Front Right Lower Rear Front Left Lower Rear
31121094234 31121094233
BM-16735 BM-16736
Suspension Control Arm and Ball Joint Suspension Control Arm and Ball Joint
Assembly Assembly
Front Right Lower Front Left Lower
31121141962 31121141961
BM-16738 BM-167382
Suspension Control Arm and Ball Joint Suspension Control Arm and Ball Joint
Assembly Assembly

Front Right Lower Rear
withoutbushing,(only535i,540i,M5)

Front Left Lower Rear
(only535i,540i,M5)

31121092609

31121092610 31121092610
BM-16739 BM-16739Z
Suspension Control Arm and Ball Joint Suspension Control Arm and Ball Joint
Assembly Assembly

Front Left Lower Rear
withoutbushing,(only535i,540i,M5)

31121092609

BM-18415

Suspension Control Arm Repair Kit

Front
B-410/B-411-B-422/B-423-B-424/B-425

BM-18416

Suspension Control Arm Repair Kit

Rear
?-41 2-B-404K-B-426/B-427-B-724-B-81

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com

info@parsrot.com



Rot sy

mw Land BMW
5-SERIES E39 1995-2003
|
BM-14409 BM-14410
Stabilizer Link Stabilizer Link
Front Front Left
L=285mm L=240mm — 4
31351095664 31351095661
BM-14411 BM-14412
Stabilizer Link Stabilizer Link
Front Right Rear
L=240mm Metal L=66mm
31351095662 33551092292
BM-14413 BM-20196
Stabilizer Link Control Arm Bushing
Rear Rear
Aluminium L=66mm 33321090102
33551095532
BM-20195 BM-20500
Control Arm Bushing Control Arm Bushing
Upper Rear
3119071085 33321094210
BM-2039 BM-2040
Control Arm Bushing Control Arm Bushing
Lower Upper
31121094235 31129068753
BM-20273 BM-20675
Control Arm Bushing Control Arm Bushing
Front Outer Rear
33321090030 33321090030
BM-20996

Control Arm Bushing
Front Lower Rear

31121092610

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com

info@parsrot.com



—
sy L and

5-SERIES

E60,E61
BM-404 BM-405
Lateral Arm Bushing Ring
Rear Rear
33321095631 33321091687
BM-20675 BM-20652
Control Arm Bushing Control Arm Bushing
Rear Lower
33321090030 31126765992
BM-20273 BM-2035
Control Arm Bushing Control Arm Bushing
Front Outer Rear
33321090030 31121126302
BM-20196 BM-19669
Control Arm Bushing Lateral Arm
Rear Rear Right Upper Rear
33321090102 33326767760
BM-19670 BM-19674
Lateral Arm Lateral Arm
Rear Left Upper Rear Rear Right Upper Rear
33326767759 33326767754
BM-19675 BM-13673
Lateral Arm Axial Joint
Rear Left Upper Rear Front
Upper M16X1,5Rht
33326767753 32216762403
BM-23664673 BM-23931673
Steering Tie Rod Assembly Steering Tie Rod Assembly
Front Front
32216762403 32216777451

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com

2003-2010

info@parsrot.com



Rot sy

= Land BMW
5-SERIES E60,E61 2003-2010
BM-12664 BM-12931
Tie Rod End Tie Rod End
Front Front
(XD) M16X1.5RNt 35546767860
32216756369
|
BM-11934 BM-16676
Suspension Control Arm and Ball Joint

p— Ball Joint

Assembly

Front
Front Right Lower Front
31126779840
31126774826
BM-16677 BM-16678
Suspension Control Arm and Ball Joint Suspension Control Arm and Ball Joint
Assembly Assembly
Front Left Lower Front Front Right Lower Rear
31126774825 31126760182
BM-16679 BM-16938
Suspension Control Arm and Ball Joint Suspension Control Arm and Ball Joint
Assembly Assembly
Front Left Lower Front Right Rear
31126760181 xdriveAluminium
31126774828
BM-16939 BM-18680
Suspension Control Arm and Ball Joint Suspension Control Arm Repair Kit
Assembly
Front
FrontLeft Rear B 637/B-638-B-678/B-679-B-676/677
xdriveAluminium
31126774827
BM-18681 BM-18690

Suspension Control Arm Repair Kit

Rear
B-639-B-404K-B-671-B-674/B-675

Suspension Control Arm Repair Kit

Front
?-664-8-637/638-B-678/B-679-B-676/67

BM-14630
Stabilizer Link

Rear
A=(Forvehicleswithactives%%%ilifﬁr&

33506781537

BM-14637
Stabilizer Link

Front Right
L=300mm

31356760986

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com

info@parsrot.com



Rot sy

= Land BMW
5-SERIES E60,E61 2003-2010
BM-14638 BM-14639
Stabilizer Link Stabilizer Link
"&_ _— _ _Q Front Left Rear
L=300mm L=135.3mm
31356760985 33556761000
BM-14936 BM-14937
—, Stabilizer Link Stabilizer Link
Front Right Front Left
(xdrive)4X4 A=L-420mm (xdrive)4X4 A=L-420mm
: 31306781550 31306781549
|
| BM-19814 BM-19671
Lateral Arm Lateral Arm
‘ 1 Rear Rear Upper Front
j ] 33326770749 33326774795
5-SERIES F10,F11
BM-19914 BM-13903
Lateral Arm Axial Joint
Rear Front
33326775902 M14X1,5-L=245mm
32106784716

BM-23901903

Steering Tie Rod Assembly

BM-23902903

Steering Tie Rod Assembly

Front Right Front Left
32106784719 32106784716
BM-12901 BM-12902
Tie Rod End Tie Rod End
Front Right Front Left
M14x1,5 M14x1,5
32106784796 32106784790
BM-16904 BM-16910
Suspension Control Arm and Ball Joint Suspension Control Arm and Ball Joint P
Assembly Assembly f

Front Right Lower Rear
31126850782

Front Upper
31126775967

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com

info@parsrot.com



Rot sy

= Land BMW
5-SERIES F10,F11 2010-2016
|
BM-16905 BM-16911
Suspension Control Arm and Ball Joint N

o Suspension Control Arm and Ball Joint
Assembly

Front Left Lower Rear

Assembly
Front Right Lower Front

31126850781 31126775972
BM-16912 BM-14900
Suspension Control Arm and Ball Joint Stabilizer Link
Assembly
Rear Front
Front Left Lower Front (ixprive) L=110mm/M12x1.5
31126775971 37106775189
BM-14906 BM-14907
Stabilizer Link Stabilizer Link
Front Rear
L=300mm L=110mm
31356777319 33556777635
BM-14917
Stabilizer Link
Rear Front
L=107,5mm
33326775683
G30, G31 2017 after
BM-12961 BM-12962
Tie Rod End Tie Rod End
Front Left Front Right
32106868685 32106868687
BM-14960
Stabilizer Link
Front
31306861483
6-SERIES E24 1982-1990
|
BM-14212 BM-16533
Stabilizer Link Suspension Control Arm and Ball Joint
Assembly
Rear Outer
L=50mm Front Left Upper
33321126476 31121132345

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com

info@parsrot.com



Rot sy

= Land BMW
6-SERIES E24 1982-1990
|
BM-16532 BM-12501 -
Suspension Control Arm and Ball Joint Tie Rod End .
Assembly Front Right
FrontRight  outer M14x1,5
31121132346 32211135820
BM-12502 BM-16526
Tie Rod End Suspension Control Arm and Ball Joint

Assembly

Control Arm Bushing

Control Arm Bushing

|
Front Left H
inner M14x1,5 Front Left Lower Front
32211135819 31121139991
|
BM-14510 BM-14211
Stabilizer Link Stabilizer Link
Front Rear ﬁ
L=241mm L=100mm
31351128050 33551126932
.|
BM-2035
Control Arm Bushing
Rear
31121126302
E63,E64 2004-2010
.|
BM-2035 BM-20273

Front Left Inner

Rear Front Outer
31121126302 33321090030
BM-20465 BM-19671
Control Arm Bushing Lateral Arm

Rear Upper Front

31126765991 33326774795
BM-19814 BM-19748
Lateral Arm Lateral Arm
Rear Rear Right Front
33326770749 Type:E-60/E63/E65 L=212mm

33326775084

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com 33 info@parsrot.com



Rot sy

= Land BMW
6-SERIES E63,E64 2004-2010
BM-19749 BM-16667
— Lateral Arm Suspension Control Arm and Ball Joint

Rear Left Front
Type:E-60/E63/E65 L=212mm

Assembly

Front Left Lower Rear

33326775083 31126777937
BM-16668 BM-16746
Suspension Control Arm and Ball Joint Suspension Control Arm and Ball Joint
Assembly Assembly
Front Right Lower Rear Front Right Lower Front
31126777938 31102348048
BM-16747 BM-14647
Suspension Control Arm and Ball Joint Stabilizer Link
Assembly Front Right
Front Left Lower Front L=332mm
31102348049 31356769664
BM-14648 BM-14639
Stabilizer Link Stabilizer Link
Front Left Rear
L=332mm L=135.3mm
31356769663 33556761000
BM-18681 BM-12664
Suspension Control Arm Repair Kit Tie Rod End
Rear Front
B-639-B-404K-B-671-B-674/B-675 (XD) M16X1,5Rht
32216756369
BM-13673 BM-19675
Axial Joint Lateral Arm
Front Rear Left Upper Rear
M16X1,5Rht Upper
32216762403 33326767753
BM-19674 BM-19670
Lateral Arm Lateral Arm

Rear Right Upper Rear
33326767754

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

Rear Left Upper Rear
33326767759

ahinie

parsrot.com

34

info@parsrot.com



Rot sy

mw Land BMW
6-SERIES E63,E64 2004-2010
BM-19669 BM-20196
Lateral Arm Control Arm Bushing
Rear Right Upper Rear Rear
33326767760 33321090102
BM-20675 BM-404
Control Arm Bushing Lateral Arm Bushing
Rear Rear
33321090030 33321095631
F06,F12,F13
BM-23901903 BM-13903
Steering Tie Rod Assembly Axial Joint
Front Right Front
32106784719 M14X1,5-L=245mm
32106784716
BM-19914 BM-16911
Lateral Arm Suspension Control Arm and Ball Joint
Assembly
Rear
Front Right Lower Front
33326775902
31126775972
BM-16905 BM-16910
Suspension Control Arm and Ball Joint Suspension Control Arm and Ball Joint
Assembly Assembly

Front Left Lower Rear

Front Upper

31126850781 31126775967
BM-16904 BM-12902
Suspension Control Arm and Ball Joint Tie Rod End
Assembly
Front Left
Front Right Lower Rear M14x1,5
31126850782 32106784790
BM-12901 BM-23902903
Tie Rod End Steering Tie Rod Assembly
Front Right Front Left
MI4x15 32106784716
32106784796

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com

info@parsrot.com



Rot sy

mw Land BMW
6-SERIES F06,F12,F13 2011-2016
BM-14686 BM-14917
~~ Stabilizer Link Stabilizer Link
Rear Rear Front
L=200mm L=107,5mm
33556786429 33326775683
|
BM-14906 BM-14900
N Stabilizer Link Stabilizer Link
Front Rear Front
L=300mm (ixDrive) L=110mm/M12x1.5
: 31356777319 37106775189
|
BM-16912
P Suspension Control Arm and Ball Joint
Assembly
Front Left Lower Front
e 31126775971
7-SERIES E23 1977-1986
|
BM-14212 BM-14211
Stabilizer Link Stabilizer Link
Rear Outer Rear %
L=50mm L=100mm
33321126476 33551126932
7-SERIES E32 1986-1994
|
BM-14510 BM-14400
Stabilizer Link Stabilizer Link
Front Rear
L=241mm Alm. L=60mm
31351128050 33551135307
BM-14212 BM-16521

Stabilizer Link

Suspension Control Arm and Ball Joint
Assembly

Rear Outer
L=50mm Front Left Lower Front
BM-16520 BM-12502
Suspension Control Arm and Ball Joint Tie Rod End
Assembly
Front Left
Front Right Lower Front inner M14x1.5
31121139988 32211135819

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com

info@parsrot.com



Rot sy

mw Land BMW
7-SERIES E32 1986-1994
BM-12501 BM-17508
Tie Rod End Steering Center Link
Front Right Front
Outer M14x1,5 35911135666
32211135820
BM-14506 BM-14507
Stabilizer Link Stabilizer Link
Front Right Front Left
31351139142 31351139141
BM-20568 BM-2038
Control Arm Bushing Control Arm Bushing
Front Upper
31121136605 31121139456
E38
BM-2039 BM-20397
Control Arm Bushing Control Arm Bushing
Lower Rear
31121094235 33321090906
BM-20273 BM-17715
Control Arm Bushing Steering Center Link
Front Outer Front Center
33321000030 ~ -900mm
32211096057
BM-19727 BM-19728
Lateral Arm Lateral Arm
Rear Right Rear Left
33321090906 33321090905
BM-12701 BM-12702
Tie Rod End Tie Rod End
Front Right Front Left
M16X1,5 M16X1,5
32211141346 32211141345

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com

info@parsrot.com



Rot sy

= Land BMW
7-SERIES E38 1994-2002
BM-16722 BM-16723
Suspension Control Arm and Ball Joint Suspension Control Arm and Ball Joint
Assembly Assembly

Front Right Lower Rear

Front Left Lower Rear

Stabilizer Link

31121141724 31121141723
BM-16725 BM-16726
Suspension Control Arm and Ball Joint Suspension Control Arm and Ball Joint
Assembly Assembly @
Front Right Lower Front Front Left Lower Front j h—w
31121142088 31121142087
|
BM-14710 BM-14711

Stabilizer Link

Front Rear
L=308mm L=75mm
31351095695 33551095696
BM-19814 BM-19724
Lateral Arm Lateral Arm
Rear Rear Upper Front
33326770749 33321097264
BM-20196 BM-20195
Control Arm Bushing Control Arm Bushing
Rear Upper
33321090102 3119071085
BM-404 BM-405
Lateral Arm Bushing Ring
Rear Rear
33321095631 33321091687
E65,E66,E67
BM-405 BM-404
Ring Lateral Arm Bushing
Rear Rear
33321091687 33321095631

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com

info@parsrot.com



Rot sy

mw Land BMW
7-SERIES E65,E66,E67 2001-2008
BM-20675 BM-20196
=== Control Arm Bushing Control Arm Bushing
Rear Rear
33321090030 33321090102
BM-19814 BM-19671
Lateral Arm Lateral Arm
5 Rear Rear Upper Front
!
| 33326770749 33326774795
—— S
BM-13663 BM-23663664
Axial Joint Steering Tie Rod Assembly
.ﬂ—q. Front Front i
M16x1,5-L=229mm 32216758368
32216756368
| |
BM-16665 BM-16666
Suspension Control Arm and Ball Joint Suspension Control Arm and Ball Joint
) Assembly Assembly ‘
‘ Front Left Lower Rear Front Right Lower Front .
31126774831 31126774832
| |
BM-14660 BM-14661
Stabilizer Link Stabilizer Link
) Front Right Front Left i
‘k—_-. ‘_——,‘
L=425mm L=425mm
31356753768 31356753767
|
BM-14662 BM-14672
Stabilizer Link Stabilizer Link
.
- _#‘ Rear Rear
L=227mm L=216mm
33556757460 33556753770
BM-19748 BM-16668
Lateral Arm Suspension Control Arm and Ball Joint

Rear Right Front
Type:E-60/E63/E65 L=212mm

33326775084

Assembly
Front Right Lower Rear
31126777938

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com

info@parsrot.com



= [and BMW
7-SERIES E65,E66,E67 2001-2008
BM-16667 BM-19749
Suspension Control Arm and Ball Joint Lateral Arm
Assembly
- Y Rear Left Front
= @ Front Left Lower Rear  1ype:E-60/E63/E65 L=212mm
BM-19669 BM-19670
Lateral Arm Lateral Arm

N Rear Right Upper Rear

Rear Left Upper Rear

33326767760 33326767759
BM-12664 BM-20273
Tie Rod End Control Arm Bushing
Front Front Outer
(XD) M16X1,5Rht 33321090030
32216756369
BM-20465

Control Arm Bushing
Front Left Inner

31126765991

FO01, F02, F03,F04

2008-2016

BM-23902903 BM-12901
Steering Tie Rod Assembly Tie Rod End
Front Left Front Right
32106784716 ~ M14x1.5
32106784796
BM-12902 BM-16910
Tie Rod End Suspension Control Arm and Ball Joint
Assembly
Front Left
M14x1,5 Front Upper
32106784790 31126775967
|
BM-19914 BM-13903
Lateral Arm Axial Joint
Rear Front
33326775902 M14X1,5-L=245mm
32106784716

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com

info@parsrot.com



A
&Ilana' BMW

7-SERIES

FO01, FO02, FO3,F04

2008-2016

BM-23901903

Steering Tie Rod Assembly

BM-14917

Stabilizer Link

Front Right Rear Front
32106784719 -=107.5mm
33326775683
BM-14900 BM-14906
Stabilizer Link Stabilizer Link
Rear Front Front
(ixDrive) L=110mm/M12x1.5 L=300mm
37106775189 31356777319
BM-14907 BM-19918
Stabilizer Link Lateral Arm
Rear Rear Right
L=110mm 33306782132
33556777635
BM-19919 BM-11930
Lateral Arm Ball Joint
Rear Left Front Lower
33326782131 OnlyxDrive
31126777753
BM-16908 BM-16909
Suspension Control Arm and Ball Joint Suspension Control Arm and Ball Joint
Assembly Assembly
Front Right Lower Front Front Left Lower Front
31126775960 31126775959
BM-16915 BM-16916
Suspension Control Arm and Ball Joint Suspension Control Arm and Ball Joint
Assembly Assembly

Front Right Lower Rear

Front Left Lower Rear

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

31126850782 31126850781
7-SERIES G11, G12
|
BM-12961 BM-12962
Tie Rod End Tie Rod End
Front Left Front Right
32106868685 32106868687

parsrot.com

info@parsrot.com



Rot sy

= Land BMW
7-SERIES G11, G12 2017 after
|
BM-1006
N Stabilizer Link
! Front
31306861485
8-SERIES E31 1990-1999
| |
BM-16525 BM-17508
Suspension Control Arm and Ball Joint Steering Center Link
I i Assembly Eront
Front Right Lower =
32211135666
31121139992
| |
BM-12501 BM-12502
- -
Tie Rod End Tie Rod End d
Front Right Front Left
Outer M14x1,5 inner M14x1,5
32211135820 32211135819
BM-16526 BM-14510

Suspension Control Arm and Ball Joint

Stabilizer Link

2014 after

Assembly
H Front
Front Left Lower Front L=241mm
31121139991 31351128050
i3 1st Gen
BM-201236 BM-201237

Control Arm Bushing

Front Lower Inner

Control Arm Bushing

Front Lower Outer

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

31106863740 31106863740
BM-13383 BM-23131383
Axial Joint Steering Tie Rod Assembly
Front Front Right
32216851410 32216851410
BM-23132383 BM-12131
Steering Tie Rod Assembly Tie Rod End
Front Left Front Right
32216851409 32106851412

parsrot.com

info@parsrot.com



Rot sy

= Land BMW
i3 1st Gen 2014 after
|
BM-12132 BM-16138
o Tie Rod End Suspension Control Arm and Ball Joint P
3 Assembly
Front Left
Front Right Lower
32106851411
31106863740
BM-16139 BM-14386
Suspension Control Arm and Ball Joint Stabilizer Link
Assembly
Front Right
Front Left Lower
31306862858
31106863739
BM-14387
P Stabilizer Link
! Front Left
31306862857
i8 1st Gen 2014 after
|
BM-13393 BM-23951393
Axial Joint Steering Tie Rod Assembly
Front Front
32106858672 32106858672
BM-12951 BM-14390
Tie Rod End Stabilizer Link
Front Front
32106858673 31306858500
BM-16910
Suspension Control Arm and Ball Joint
Assembly
Front Upper
31126775967
X1 E84 2009-2016
|
BM-13193 BM-14196A
Axial Joint Stabilizer Link
m Front Front Right

C=(xDrive)4x4 M18X1.5
32106793622

MetalType(xDrive)4x4 A=340MM
31356768772

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com

info@parsrot.com



—
sy L and

BMW

X1 E84

2009-2016

BM-16179

— Suspension Control Arm

Front Left Lower Rear

BM-16178

Suspension Control Arm

Front Right Lower Rear

xdrive xdrive
31126768983 31126768984
BM-16935 BM-11932
Suspension Control Arm and Ball Joint Ball Joint
Assembly
Front
Front xdrive
xdrive
31126768989
31126768989
BM-12192 BM-12191
Tie Rod End Tie Rod End
Front Left Front Right
xdrive M14x1,5 (xDrive)4x4 M14x1,5
32106793623 32106793624

BM-23192193

Steering Tie Rod Assembly

BM-23191193

Steering Tie Rod Assembly

Front Left Front Right
xdrive M14x1,5 xdrive M14x1,5
32106793621 32106793622
BM-14197A BM-14157A
Stabilizer Link Stabilizer Link
Front Left Front Right
MetalType(xDrive)4x4 A=340MM 31356765934
31356768771
BM-14158 BM-14158A
Stabilizer Link Stabilizer Link
Front Left Front Left
L=290mm 341356765933
31356765933
BM-14159 BM-16155
Stabilizer Link Suspension Control Arm and Ball Joint
Assembly L
Rear
L=160mm Front Right Lower Rear @_—\ -
33556764428 31126770850

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com

info@parsrot.com



Rot sy

= Land BMW
X1 E84 2009-2016
BM-16156 BM-16160
Suspension Control Arm and Ball Joint Suspension Control Arm and Ball Joint
Assembly Assembly

Front Left Lower Rear

Front Right Lower Front

31126770849 31126763708
BM-16161 BM-18170
Suspension Control Arm and Ball Joint Suspension Control Arm Repair Kit
1 Assembly Front
Front Left Lower Front (B\1-10-151/152/157/158/155/156/160/1
31126763707
BM-18150 BM-14157
N Suspension Control Arm Repair Kit Stabilizer Link
Rear Front Right
2x(B-167/168/169/159/154) L=290mm
31356765934
BM-19167 BM-19168
Lateral Arm Lateral Arm
Rear Upper Front Rear Upper Rear
33326782237 33326777980
BM-19169 BM-12151
Lateral Arm Tie Rod End
Rear Lower Rear Front Right
33326763471 TRWSt. M14x1,5
32106767782
BM-12152 BM-154
/i Tie Rod End Lateral Arm Bushing
l Front Left Rear
TRWSt. M14x1,5 33326775552
32106767781
BM-20626 BM-20622
Control Arm Bushing Control Arm Bushing
Upper Lower
31126765597 31126763719

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com

info@parsrot.com



Rot sy

== Land
X1 F48 2015 after
BM-124 MN-14167
Lateral Arm Bushing Stabilizer Link
Rear Rear
33326870773 33506862865
BM-13123 BM-23121123
Axial Joint Steering Tie Rod Assembly
Front Front Right
32106867405 32106867405
BM-23122123 BM-12121
Steering Tie Rod Assembly Tie Rod End
Front Left Front Right
32106867404 32106867405
BM-16128 BM-16129
Suspension Control Arm and Ball Joint Suspension Control Arm and Ball Joint
Assembly Assembly
Front Right Lower Front Left Lower
31126871302 31126871301
BM-19126 BM-12122
Lateral Arm Tie Rod End
Rear Upper Front Left
33326870773 32106867404
BM-201004 BM-201003
Control Arm Bushing Control Arm Bushing
Front Left Front Right
31126874341 31126874342
X2 F39
|
BM-12122 BM-19126
Tie Rod End Lateral Arm
Front Left Rear Upper
32106867404 33326870773

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com

info@parsrot.com



Rot sy

= Land BMW
X2 F39 2018 after
BM-16129 BM-16128
—— Suspension Control Arm and Ball Joint Suspension Control Arm and Ball Joint

Assembly

Front Left Lower

Assembly
Front Right Lower

31126871301 31126871302
|
BM-23122123 BM-23121123
= Steering Tie Rod Assembly Steering Tie Rod Assembly
Front Left Front Right
32106867404 32106867405
|
BM-13123 BM-19127
— Axial Joint Lateral Arm
Front Rear
32106867405 33326851569
MN-14167
Stabilizer Link
Rear
33506862865
X3 E83
|
BM-19844 BM-13803
Lateral Arm Axial Joint
i Rear Lower Front
33326770813 M14x1,5Rht-L=219mm
32303418204
BM-11835 BM-11875
Ball Joint Ball Joint

Front Lower

Front Lower
Only:X-Drive4 X4

'y

i

31103418341
31103438623
BM-16846 BM-16847
Suspension Control Arm and Ball Joint Suspension Control Arm and Ball Joint
Assembly Assembly
Front Right Lower Rear Front Left Lower Rear
FrontLowerRear FrontLowerRear
31103426434 31103451881

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

2004-2010

parsrot.com

a7

info@parsrot.com



—
sy L and

BMW

X3 E83

2004-2010

BM-16848

Suspension Control Arm

Front Right Lower Front

BM-16849

Suspension Control Arm

Front Left Lower Front

LowerFront LowerFront
31103443128 31103443127
BM-18845 BM-14836
Suspension Control Arm Repair Kit Stabilizer Link
Front Front Right
B-835-B-836/B—837-B—846/B-847-BB-_884fé L=300mm
31303413300
BM-14837 BM-14838
Stabilizer Link Stabilizer Link
Front Left Rear
L=300mm L=95mm
31303413299 33503414297
BM-23831803 BM-2035
Steering Tie Rod Assembly Control Arm Bushing
Front Rear
M14x1.5Rht 34421126302
32103418999
BM-20394 BM-111

Control Arm Bushing

Suspension Control Arm Repair Kit

Lower Front
31126769715
BM-20854 BM-20659
Control Arm Bushing Control Arm Bushing
Rear Rear
33326770813 33321097009
F25
BM-20852 BM-20914
Control Arm Bushing Control Arm Bushing
Front Right Rear
31106787674 33306786993

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com

info@parsrot.com



F25

BM-20915

Control Arm Bushing

BM-20954

Control Arm Bushing

Rear Front Right Inner
33306786991 31126787670
BM-19877 BM-19878
Lateral Arm Lateral Arm
Rear Lower Front Rear Right Upper Rear
33326786978 33326788550
BM-19876 BM-19879
Lateral Arm Lateral Arm
Rear Upper Rear Left Upper Rear
33326786981 33326788549
BM-19928 BM-13883
Lateral Arm Axial Joint
Rear Upper Front Front
33306786991 ~ M16X1.5
32106787472
BM-23881883 BM-12881
Steering Tie Rod Assembly Tie Rod End
Front Front
32106787472~ M16X1.5
32106792674
BM-11880 BM-16884
Ball Joint Suspension Control Arm and Ball Joint

Front Lower

31106787665

Assembly
Front Right Lower Rear

Withballjoint
31126787670
BM-16885 BM-16888
Suspension Control Arm and Ball Joint Suspension Control Arm
Assembly
Front Right Lower Front
Front Left Lower Rear
Withballjoint 51106787674
31126787669

2010-2016

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com 49 info@parsrot.com



A
&Ilana' BMW

X3 F25 2010-2016

BM-16889 BM-14882

— Suspension Control Arm Stabilizer Link
Front Left Lower Front Rear
31106787673  -134mm
33556790324

BM-14886 BM-14887
Stabilizer Link Stabilizer Link

Front Right Front Left
L=340mm L=340mm

31306787164 31306787163

F26

BM-14887 BM-14886
Stabilizer Link Stabilizer Link

Front Left Front Right
L=340mm L=340mm

31306787163 31306787164

BM-14882 BM-16889

Stabilizer Link Suspension Control Arm
Rear Front Left Lower Front
L=134mm 34406787673
33556790324

BM-16888 BM-16885

Suspension Control Arm Suspension Control Arm and Ball Joint

Assembly
Front Right Lower Front

Front Left Lower Rear

81106787674 \yithballjoint
31126787669
BM-16884 BM-11880
Suspension Control Arm and Ball Joint Ball Joint
Assembly
Front Lower
Front Right Lower Rear
Withballioint 51106787665
31126787670

BM-12881 BM-13883
Tie Rod End Axial Joint

Front Front
M16X1,5 M16X1,5

32106792674 32106787472

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com 50 info@parsrot.com



Rot sy

BMW
F26 2014-2018
BM-19928 BM-19879
Lateral Arm Lateral Arm

Rear Upper Front

Rear Left Upper Rear

33306786991 33326788549
BM-19876 BM-19878
Lateral Arm Lateral Arm
Rear Upper Rear Right Upper Rear
33326786981 33326788550
BM-19877 BM-20915
Lateral Arm Control Arm Bushing
Rear Lower Front Rear
33326786978 33306786991
BM-20914
Control Arm Bushing
Rear
33306786993
E53 2000-2007
BM-500 BM-20675
Suspension Control Arm Repair Kit Control Arm Bushing
Front Rear
33321090030
BM-13803 BM-19819
Axial Joint Lateral Arm
Front Rear Right
M14x1,5Rht-L=219mm 33326770748
32303418204
BM-19820 BM-19824
Lateral Arm Lateral Arm .
Rear Left Rear Upper EE _____%_*
33326770747 33326788269 e

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com 51 info@parsrot.com



—
sy L and

BMW

X5 E53

BM-23801803

—— Steering Tie Rod Assembly

BM-23802803

Steering Tie Rod Assembly

Front Front
32216751277 32216760470
BM-12801 BM-12802
- Tie Rod End Tie Rod End
v Front Outer Front Outer
h M14x1,5Rht M14x1,5Rht
32211096327 32216760354
BM-11804 BM-11805
—— Ball Joint Ball Joint
! Rear Front Lower
33321095411 31126756491
BM-16817 BM-16818
Suspension Control Arm and Ball Joint Suspension Control Arm and Ball Joint
Assembly Assembly
Front Right Lower Rear Front Left Lower Rear
M14x1,5Rht M14x1,5Rht
31126760276 31126760275
BM-16815 BM-16816

Suspension Control Arm
Front Right Lower Front
31126769718

Suspension Control Arm
Front Left Lower Front

31126769717

BM-18800

Suspension Control Arm Repair Kit

Front
B-809/810/815/816/817/818-1 AD-B-E%S)-

BM-18821

Suspension Control Arm Repair Kit

Rear
B-811,B-824,B-819,B-820,B-404K

2000-2007

31126769717S1
BM-14809 BM-14810
Stabilizer Link Stabilizer Link
2 " Front Right Front Left ® ‘“
L=359mm L=359mm
31356750704 31356750703

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com

info@parsrot.com



Rot sy

= Land BMW
X5 E53 2000-2007
.|
_ BM-14811 BM-19814 |
% : Stabilizer Link Lateral Arm
Rear Rear |
A L=65mm 33326770749 |
= Sl 33551096735
BM-20394 BM-2035
Control Arm Bushing Control Arm Bushing
Lower Rear
31126769715 31121126302
BM-20273 BM-20562
Control Arm Bushing Control Arm Bushing
Front Outer Rear
33321090030 33321095414
BM-20500
Control Arm Bushing
Rear
33321094210
E70 2007-2012
BM-19858 BM-19859
Lateral Arm Lateral Arm

Rear Right Upper Front

Rear Left Upper Front

Front Right Lower
31126773950

33326779388 33326779387

BM-19860 BM-19929

Lateral Arm Lateral Arm
Rear Right Upper Rear Rear

33326770970 33326774476

BM-16864 BM-16865

Suspension Control Arm and Ball Joint Suspension Control Arm and Ball Joint
Assembly Assembly

Front Left Lower

31126773949

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com

info@parsrot.com



Rot sy

= Land BMW
X5 E70 2007-2012
|
BM-16866 BM-16867
— Suspension Control Arm and Ball Joint Suspension Control Arm and Ball Joint
N Assembly Assembly

Front Right Lower Rear

Front Left Lower Rear

31126771894 31126771893
BM-16868 BM-19861
Suspension Control Arm and Ball Joint Lateral Arm
Assembly
Rear Left Upper Rear
Front Right Upper
33326770969
31126776418
BM-12831 BM-16869
Tie Rod End Suspension Control Arm and Ball Joint
Assembly
Front
M14x1,5Rht Front Left Upper
BM-14850 BM-14856
Stabilizer Link Stabilizer Link
Rear Front Right
L=131,5mm L=248mm
33556771937 31356773024
BM-14857 BM-14862
Stabilizer Link Stabilizer Link
Front Left Front Right
L=248mm Withdyamiccontrol L=247mm
31356773023 37116771930
BM-14863 BM-23831803
Stabilizer Link Steering Tie Rod Assembly
Front Left Front
Withdyamiccontrol L=247mm M14x1,5Rht
37116771929 32103418999
BM-20684 BM-20685
Control Arm Bushing Control Arm Bushing
Lower Center Center
31106778015 31106771897

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com

info@parsrot.com



Rot sy

mw Land BMW
X5 E70 2007-2012
BM-20686 BM-20687
g, Control Arm Bushing Control Arm Bushing
Front Outer Upper
31106771194 31126776418
BM-20987 BM-20765
Control Arm Bushing Control Arm Bushing
Rear Rear Upper
33326774476 33326795048
BM-20766
Control Arm Bushing
Rear Lower
33326770970
F15, F85 2012 after
BM-20987 BM-13813
Control Arm Bushing Axial Joint
Rear Front
33326774476 32106858737
BM-13943 BM-16869
Axial Joint Suspension Control Arm and Ball Joint
Assembly
Front
Front Left Upper
32106863859
31126776417
BM-16868 BM-19929
Suspension Control Arm and Ball Joint Lateral Arm
Assembly
Rear
Front Right Upper
gt -ep 33326774476

31126776418

BM-23751813
Steering Tie Rod Assembly
Front Right

32106858737

BM-23751943
Steering Tie Rod Assembly
Front Right

32106863859

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com

info@parsrot.com



—
sy L and

BMW

X5 F15, F85

2012 after

BM-23752813

Steering Tie Rod Assembly

BM-23752943

Steering Tie Rod Assembly

Front Left Front Left
32106858735 32106863857
BM-12751 BM-12752
Tie Rod End Tie Rod End
Front Right Front Left
32106863860 32106863858
BM-16757 BM-16758
Suspension Control Arm and Ball Joint Suspension Control Arm and Ball Joint
Assembly Assembly
Front Right Lower Rear Front Left Lower Rear
31126864822 31126864821
BM-16948 BM-16949
Suspension Control Arm and Ball Joint Suspension Control Arm and Ball Joint
Assembly Assembly
Front Right Lower Front Front Left Lower Front
31126851692 31126851691
BM-14940 BM-14946
Stabilizer Link Stabilizer Link
Rear Front Right
L=131.5mm 31356850652
33556857626
BM-14947 BM-201045

Stabilizer Link

Control Arm Bushing

Control Arm Bushing
Front Lower Rear Outer

31126864822

Front Left Front Lower Front
31356859651 31126851692
BM-20517

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com

info@parsrot.com



Rot sy

mw Land BMW
X6 E71, E72 2008-2014
BM-19929 BM-19860
— Lateral Arm Lateral Arm
Rear Rear Right Upper Rear
33326774476 33326770970
BM-19859 BM-16868
Lateral Arm Suspension Control Arm and Ball Joint
Assembly
Rear Left Upper Front
Front Right Upper
33326779387
31126776418
BM-19858 BM-16869
Lateral Arm Suspension Control Arm and Ball Joint
Assembly
Rear Right Upper Front
Front Left Upper
33326779388
31126776417
BM-12831 BM-19861
Tie Rod End Lateral Arm
Front Rear Left Upper Rear
M14x1.5Rht 33326770069
32216773739
BM-14863 BM-14862
Stabilizer Link Stabilizer Link
Front Left Front Right
Withdyamiccontrol L=247mm Withdyamiccontrol L=247mm
37116771929 37116771930
BM-14857 BM-14856
Stabilizer Link Stabilizer Link
Front Left Front Right
L=248mm L=248mm
31356773023 31356773024
BM-14850 BM-23831803
Stabilizer Link Steering Tie Rod Assembly
Rear Front
L=131,5mm M14x1,5Rht
33556771937 32103418999

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com

info@parsrot.com



Rot sy

= Land BMW
X6 E71, E72 2008-2014
BM-20987 BM-20766
——— Control Arm Bushing Control Arm Bushing
Rear Rear Lower
33326774476 33326770970
BM-20765 BM-20687
Control Arm Bushing Control Arm Bushing
Rear Upper Upper
33326795048 31126776418
F16,F86
BM-13943 BM-13813
Axial Joint Axial Joint
Front Front
32106863859 32106858737
BM-16869 BM-16868
Suspension Control Arm and Ball Joint Suspension Control Arm and Ball Joint
Assembly Assembly

Front Left Upper

Front Right Upper

Front Left Lower Front

31126851691

31126776417 31126776418
BM-19929 BM-14947
Lateral Arm Stabilizer Link
Rear Front Left
33326774476 31356859651
BM-14946 BM-14940
Stabilizer Link Stabilizer Link
Front Right Rear
31356850652 - 191-5mm
33556857626
BM-16949 BM-16948
Suspension Control Arm and Ball Joint Suspension Control Arm and Ball Joint
Assembly Assembly

Front Right Lower Front
31126851692

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com

info@parsrot.com



Rot sy

mw Land BMW
X6 F16,F86 2014 after
BM-16758 BM-16757
— Suspension Control Arm and Ball Joint Suspension Control Arm and Ball Joint
Assembly Assembly

Front Left Lower Rear

Front Right Lower Rear

31126864821 31126864822
BM-12752 BM-12751
P~ Tie Rod End Tie Rod End
| Front Left Front Right
32106863858 32106863860

BM-23752943
Steering Tie Rod Assembly
Front Left

32106863857

BM-23752813
Steering Tie Rod Assembly
Front Left

32106858735

BM-23751943

Steering Tie Rod Assembly

BM-23751813

Steering Tie Rod Assembly

Suspension Control Arm Kit

Front Left Lower

Front Right Front Right
32106863859 32106858737
E85 2003-2009
BM-14610 BM-14605
Stabilizer Link Stabilizer Link
Front Rear
L=270mm L=95mm
31351095694 33551094619
BM-18626V BM-18626K

Suspension Control Arm Kit

Front Left Lower

Suspension Control Arm Kit

Front Right Lower
Alm.WithMountedBush

31121094466

Alm.WithMountedBush Alm.CompleteKit
31121094465 31121094465
BM-18625V BM-18625K

Suspension Control Arm Kit L~

Front Right Lower
Alm.CompleteKit

31121094466

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com

info@parsrot.com



Rot sy

mw Land BMW
Z4 E85 2003-2009
BM-16626 BM-16625
“ Suspension Control Arm and Ball Joint Suspension Control Arm and Ball Joint
/ . Assembly Assembly
4T =\ Front Left Lower Front Right Lower
b ] \ Am.  Am.
31126752717 31126752318
BM-12602 BM-12601
Tie Rod End Tie Rod End
X Front Left Front Right
M14x1,5Rht M14x1,5Rht
32211095957 32211095958
BM-19844 BM-23602603
Lateral Arm Steering Tie Rod Assembly
Rear Lower Front Left
33326770813 32211096897
BM-23601603 BM-13603
Steering Tie Rod Assembly Axial Joint
Front Right Front
39211096898 M14x1,5-L=205mm
32211095950
BM-20378 BM-20379
Control Arm Bushing Control Arm Bushing
Right Left
31126754900 31126754899
BM-20854 BM-304
Control Arm Bushing Lateral Arm Bushing
Rear Rear
33326770813 33321140345

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com

info@parsrot.com






